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public static void test(int data[], int size)
{int i=0, j=0, k=0, incr= size/2;
while (incr > 0) {
for (i = incr+1; i <= size; i++) {
| =1i-incr;
while (j > 0)
if (data][ j] > data] j+incr]) {
temp = data] j];
data[ j] = data[ j+incr];
data][ j+incr] = temp;

j=]-incr}
else
j=0;
}
incr = incr/2;}

System.out.print(“\nResult:");
for (i=1;i<=size;i++) System.out.print(data[i]+ ”);

}
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LA eN5 2B EHEEST Banks ~ Orders #v Funds % =18 % (Table) - H 4
#(schema) 4 7] #& 3l o F -
Banks(no, name, address)//4R 4T (4R4AT 4 5% ~ 4 4% ~ {E4L)
Orders(no, id, quantity)//31T £ (4T 4355 ~ K& 45K ~ B
Funds(id,fundname, price)//2 4 (X 2435 ~ X4 %45 - i$14)
Z K 4564 B 1k (attribute) & 2% %k 2 X &2 (primary key); Orders % & 4847438 B L £ 455 H
18 41 2k 52 (foreign key) » 4 %] 4-B& Banks & ##uv Funds % &9 4% -
HHEAE AT FIFAE -
(—) F.SQLIEL Fd £ Funds 2 ¥ A& 458 - 107 X4 4 66 - [4 4]
(=) FUSQALIEA B L EAN L AL P ELEN M I BERBTFLE B X
Total funds sold #> 2842 B H A SQLIEA Z LB AL 845 "A 4%
7% 1id char (3)~ ¥ & % #% : fundname char(20) -~ ¥ 4 #; : total_qty integer"-
[16 %]
(=) HFSQLiEAFE L A Funds X B0FE A4 5 a1 BHER - RBRIFILERRIR
Orders & P ey e &2k - [5 o)
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B3k — B H B 4 %09 174 B 5 & (relational tables) AGENT sz CUSTOMER » ity & 4% 1) 4 F 5 P8
ZARBL ML BN B T RAAF > £+ 4 AGT_ID~ CUS_ID % & X4 FHLERELT (—) »E 5144 X (Entity Relationship Model)  » % “E 58" E, ¥t E, hE M E 4

A%k (=) ~(R) i~z SQLEEER  THEEHERE - ] — A= B4 Rap 25 7 b Rap 2 B 44 %87 (Classifications) T # =46 2 [6 4]

(=) &% — B %t & (relational table) § = & i £ {A. B, C,D, E,F, G H} » £ x4

AGENT CUSTOMER 3% 2 A+B: b s JB MRS 8954 s 4a 4% (FD, functional dependency, —)4s T #7 71 :
AGT_ID | AGT_NAME | AGT_AREA | | CUS_ID | CUS_NAME | CUS_RANK | AGT_ID A|B|C|D|EJF|G]|H|
A001 4 0 % A&t C1101 # O & 20 A001
A007 %0 A& C1202 | %O 20 A007 ®A,B-C,D,EEFGH ®B-C ©®E-F ®A-H
A017 $0+ X &t C1808 7 O H 17 A001 . o . . h
AO18 #0 = LT C2510 B0 % 12 P L7 FD 29 » f B A 484k (transitive dependency) ? 47 X & #
A022 iz O i HIER C2714 | 3LO% 18 A018 “If4r 484K (partial dependency) 7 [6 4]
C3206 % O % 13 (=) A% (=) N2 FHEZRKRFHEAT S =8 F = ERIL(Normalization)£2 5 >
C3618 i O # 10 A022 Bl E#Abis 2 & KA % = EH4& K 7(BNF, 3rd Normal Form) 3% 5 I &
C3824 ROz 7 A018 A - [8 5]
(m) Tk E 4 4% DBS 24k A M mest e 77 RAID(Redundant Array of
(—) ZHEA L7 B &K AGENT F 3 AN"FHH4% : (A017 > 2 O % » ‘B4r ) » Independent Disks)a#4 & Bkt fF 2 H R F R LR YH DBS Hax3% 2 [5 o)

FRABZTAT? LMERR - [5 4]

(=) ZF#d E7IB# & AGENT +“BiEr” &4k © (A001 > 2 O 3% » *K&3L’) >
FRABZTAT? LMERRE - [5 4]

(=) SELECT CUS_ID, CUS_NAME, CUS_RANK  [5 4]
FROM CUSTOMER
WHERE CUS_RANK BETWEEN 10 AND 20
ORDERBY CUS_RANK;

(w) SELECT A.AGT_ID, C.CUS_ID, C.CUS_NAME [5 %]

FROM AGENT A, CUSTOMER C
WHERE A.AGT_ID = C.AGT_ID;

(%) SELECT COUNT(*) AS ANS1, SUM(CUS_RANK * 5) ASANS2 [5 4]
FROM CUSTOMER
WHERE (CUS_RANK <= 12) OR (AGT_ID = ‘A018));



